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Fifth Semester B.Com. Degree Examination, March/April 2021
(CBCS Scheme)
Commerce

Paper 5.2 - INTERNATIONAL FINANCIAL REPORTING
STANDARDS (IFRS)

Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answer should be completely either in Kannadq or English.

SECTION - A/2%r - o

Answer any FIVE sub-questions. Each sub-question carries 2 marks 2
: (5x2=10)

033 et Dy r@éﬂlﬁ@ﬁ YUZ D2 ajéoi;atdﬁf% 2 eosrie :

1. (a) Mention any two objectives of [FRS.
IFRS® o0@) emciesmidi S92,

(b)  Expand : JASB and GAAP.
IASB 203 GAAP 3ariva 2502,

(c)  What are non-current assets? Give two examples.
VT-FBoMe D0TBeR? 3@y PVTBTE Bk,

(d)  How do you treat Pre-acquisition profit or loss?
DOD FpIrw ana’—d%aiai)cl Bert BT SBRQD?

(€) What is cost of sales?
SN mgd DOWTERTO?

() What is EPS?
EPS »0m8emy?

(8) What is meant by related party transaction?
JF Fowo a’%saﬁaad Q0BTeRO?
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SECTION - B/yen - @

Answer any THREE questions. Each question carries 6 marks : (3 x 6 =18)
03503 WBTLR BaeTo BB ev3D2. I3 FDIPE BVITF, 6 WoTTI !

List out any nine IFRS issued by - IASB.

©03000d &I, B0 SO0BYAIL VERTLE P WoBTR 2owd) [FRSE) FLimna.

Mention the list of close members of the family as per Ind. AS - 24.

Ind. AS - 240 5520 s0t00wT B3 Fa'dﬁzsd BEIOILT), vI D3

Kumar Ltd. ordered a computer in Amazon. The price of a computer is ¥ 80,000,
allowed 10% discount at the time of purchase and charged 18% GST which is
not refundable. Shifting charges ¥ 1,000, software installation charges ¥ 6,000
and annual service charges ¥ 6,000. Calculate the initial cost of a computer.

FD0° QLT TITL  ToBREITE) WBoern DT Bredimel. TomR Tt BOR)
gue. 80,000 &n@) 10% Dodmond see)s AobBY W), F03) 8EF, 18% B.oFF. awT,
S0 TF3 WOF)PY, BB Boe, Be. 1,000, T’ m@a’aﬁ Bogney de. 6,000 33
TONET A SJQ% os. 6,000. ﬁo;-g;%éso"d e3T0DT msu;sw& FomEy HR0WD.

From the following prepare a statement of profit or loss for the year ended
31.3.2020 as per Companies Act, 2013.

X
Revenue from operations 6,00,000
Salaries and allowances 70,000
Stationary 15,000
Interest on long-term loans 25,000
Publicity 40,000
Raw-material consumed 1,10,000
Discount allowed 10,000
Depreciation 10,000
Rent Received 40,000
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8 59508 B30T FoBA 20D, 20133 F500 eord-TH, e3oddT), 30303

31.3.2020T S»&3

3
mémdaocj 200 w0l 6,00,000
Rowd BB zj:% 70,000
SeDT ToSoN NS 15,000

Deparad ow Soeds w&a 25,000

T,15000 DWOF 40,000
T3 TR WIS 1,10,000
D3, Aeh 10,000
A3TY 10,000
WRN swead 40,000

Sri Krishna Ltd. acquired 60% of equity shares in Kuchela Ltd. on 01.10.2020.
The following balances are extracted from the Balance Sheet of Kuchela Ltd. as
on 31.3.2021.

(a) Share capital : 80,000 equity shares of ¥ 100 each fully paid.
(b) General Reserve on 01.4.2020 % 1,60,000.

(c) Profit and Loss A/c (Credit) on 1.4.2020 ¥ 60,000.

(d) Net profit for the year ended 31.3.2021 ¥ 1,20,000.

Calculate Cost of Control.

Bmoos 1.10.202080c) 8¢ g somdodn desd 60TR), Recuridmy, sorsew FomoB

DDEDAT. Borsew FozJodh Bmeos 31.3.20210 VO3 W VP IIDOW B TITOB ci')aﬁdﬁ@éﬁaet
SE0DeRNT :

(@) Heod WoBTY G, 1008 Bw0Lesab Bpe B8 1 80,000 Bedored.
(b) B®e08 01.4.2020 Som> WP, IR B. 1,60,000.
(c) Be08 1.4.2020808> eogi-BRR 03 3. 60,000.
(d) Bme08 31.3.20213 SRFB ASY @oz3 B, 1,20,000.

Q0303 dwaquﬁocb &HBoWO.
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SECTION - C/Qyen - 2

Answer any THREE questions. Each question carries 14 marks : (3 x 14 = 42)
0dRB)WoETH BTy JBRYI eu3d2. Jdodeord BBt 14 wosne :

()

(b)

()

Explain in brief any two International Financial Reporting Standards.

QIR @BTR HTBO B03TTa& L0 BPFT VD JBPNeD), 30gTTN IS0

Discuss the various merits of IFRS.

303603%@ BPET I0D T[0T rOLNYD), W

List any fourteen Ind. AS.

0dRR)WRTR BRI, Ind. ASNYR), BZ0A.

Briefly explain the disclosure of provisions under Ind. AS - 37, provision,
Contingent Assets and Contingent liabilities.

QuogEned, zogsdead e DI wDwednh Ind. AS-370 ®BobI wkoon
BBRODFOD AWOBIRYBY, FoFFZoN D02

NMR CO., constructing power generation plant. This project requires totally
24 Crores, which are raised as follows :

(i) T 8 crores from HDFC bank for 10 yrs @ 11% Interest rate.

(ii) T 4 crores loan from IFCI for 6 yrs @ 10% Interest rate.

(iii) I 4 crores loan from SBI Bank for 4 yrs @ 12% Interest rate.

(iv) ¥ 6 crores from 10% debentures for 5 yrs @ 5% discount.

(v) X 2 crores as overdraft from Corporation Bank @ 4% Interest rate.

(vi) Out of the borrowed fund ¥ 10 crores are kept in HUDCO bank as
short-term deposit for 6 months @ 5% interest rate.

(viii HDFC Bank loan is borrowed through consultation and the
consultancy charges are 2% of total loan amount.

Calculate total borrowing cost in accordance with Ind AS - 23.
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NMR 3030 33 evsa@oe mo30a0) AFR8d. 8 odeewdnt sodperman dw. 24
B0ck3 NS T BIHNYRY, B FINT3 HTZew Frf oS :

() 10 3R€F, 11% 2B03>08 HDFC 23,0800 T. 8 Suacks.

(i) 6 IAFY, 10% wBob0od IFCI 29,0800 C. 4 ok,

(iii) I Sﬁl 239,08007 B, 4 Bockd o 4 IR, 12% wB 3.

(iv) 5 SIF @ 5% Badeonart 10% BWow3c*Vor Bre. 63eckS.

(v) oLperdeam® Wy 030w 4% WR BOBY Bw. X 2 Bkl LS0°myFt,

(vi) i), 20Zen JBEB APrYd, de. 10 seetdnds) HUDCO 23,0389, wenziod
dededodnn 6 3ondrt 5% WORE RWxeRRHZW.

(vii) FSRSRSE I soF Swees HDFC w908d00 500 oH0zen SEabennd
B03) IBNSRCET BOO), Wid), POV FSPHET Boeet 2%BAH.

Ind AS - 23 I590 wid), 20T 3T SRIIE), S59,1590 IN3.

(b) From the following Trial Balance of AM CO., Ltd. as on 31.03.2020, prepare
SOFP as per Ind. AS - 1 (Schedule - III of Companies Act, 2013).

TRIAL BALANCE

Debit Amount ) Credit Amount(R)
Plant, property, equipment 4,00,000 Equity share capital 2,50,000
Intangible assets 1,50,000 Capital redemption reserve 25,000
Current Investments 50,000 Non-current liabilities 4,00,000
Other non-current assets 1,00,000 P&LA/c 20,000
Inventories 45,000 Current liabilities 3,00,000
Trade receivables 50,000

Cash and cash equivalents 2,00,000

Total 9,95,000 Total 9,95,000
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31.3.2020008 AM CO., Ltd.® 8908 d5eds0d 3308ecosdor Ind. AS-10 $T20
& LTI A30d Bed? 3adndy (FoIA so0T 20133 dBAe — I3 Z520).

I,odeen 3S03RcoT

B3 S03R) Iaw’ 308 R)

BT, 3 BB GLBTTL 4,00,000 81343 Hevd WoBTRY 2,50,000

S
¥R, 33 1,50,000 ®de3ef dBoBT Dc 25,000
T3 BABEAY) 50,000 38 BemmdIdd  4.00.000
V3T BT 1D 1,00,000  oy-Ts a3 20,000
ARERIVSIA L) 45,000 TR BRHBMOTML 3,00,000
QTITE FTITO 50,000

DAIOSIAVES) 333N 2,00,000

(RIXY) 9,95,000 Wk 9,95,000

&3 ed

The statements of financial position of Pankaj Ltd. and Lohith Ltd. as on
31.03.2021.

Liabilities : Pankaj Ltd. Lohith Ltd.
) R)
Share capital : Shares of Rs. 10 each 8,00,000 2,00,000
General Reserve on 1.4.2020 2,00,000 80,000
P&LA/con 1.4.2020 1,20,000 30,000
Profit for the year 2020-21 4,80,000 4,00,000
Accounts payables 80,000 40,000
Total 16,80,000 7,50,000
Assets :
Tangible fixed assts 7,80,000 2,80,000
Investments : (16000 shares of
(X) 20 each in Lohith Ltd. 3,20,000 -
Accounts receivables 4,80,000 3,20,000
Other current assets 1,00,000 1,50,000
Total 16,80,000 7,50,000

Pankaj Ltd. acquired shares in Lohith Ltd. on 1.08.2020. From the above
details calculate Non-controlling interest.
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F0B2F FoTQ 03) Secks® FosAob dweos 31.3.20210 V0T BRET 28 3sadnie

BAHMOTNLD ; DoT® FoIQ SRcks® oI
®) )

Redd> wo@TY : G, 10 IdUeab Aedorids  8,00,000 2,00,000

BT0% 1.4.20208 %308, 99 2,00,000 80,000

B08 1.4.20200 e33-33, 1,20,000 30,000

2020-215 &g 4,80,000 4,00,000

DOIIIPR €38, 80,000 40,000
wb), 16,80,000 7,50,000

AN

20} | 7,80,000 2,80,000

BRBIME : (S0cks® BoIVab B, 20503

16,000 Zeconieb) | 3,20,000 =

RETORVEITE ¢33, 4,80,000 3,20,000

23S 2oeYNEd 1,00,000 1,50,000
2bd) 16,80,000 7,50,000

ed

B032° FoIA0IL BWeos 1.08.2020 Secdks® sozdob Betonds), BB,
8 0edT HFTNPOT D003,08, wWIBEE L3RI, BoRy LBOD.

(b) Ravi Company Ltd. acquired 3200 shares in Chandra Company Ltd. on
1.11.2020. The summarised financial position of the above two companies

as on 31.3.2021 was as under :

Liabilities : Ravi Chandra
Co. Ltd. Co. Lid.
) )

Share capital :
Shares of T 100 each fully paid up 8,00,000 4,00,000
Reserves on 1.4.2020 40,000 60,000
P&LA/c 2,00,000 1,60,000
Current liabilities 1,40,000  1,20,000
Total 11,80,000 7,40,000
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The particulars are given for Shivapriya Ltd. for the year ending
31122020,

Particulars Amount )
Goods acquired 3,00,000
Stock of gopds on 1.1.2020 40,000
Stock of goods on 31.12.2020 45,000
Sales 5,00,000
Depreciation on fixed assets 5,000
Preliminary expenses written off - 4,000
Salaries to employees 9,500
Rent of showroom 6,000
Interest on loan ; 5,000
Discount received from suppliers 2,500
- Office expenses ; 1,000 -
Printing and Stationery 900
Carriage outwards 600
Advertisement 400

Income tax at 40%

From the above particulars, prepare a statement of profit or loss as per
Schedule - III of Companies Act, 2013

Bwe0 31.12.20200 ©03 3, 83 &,00 FoTQ0d JFTrieh B FY¥NT08:S

230n% 303

(Se)
3080nY DO 3,00,000
89908 1.1.20208 5080 40,000
D@08 31.12.20208 3080 45,000
S000ts 5,00,000
20937e Boees FSTY 5,000
©0008 FPTET DWOFNY I 4,000
3301 Boww 9,500

Bue. Bwo walkn 6,000
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The particulars are given for Shivapriya Ltd. for the year ending
31.12:2020.

Particulars Amount )
Goods acquired 3,00,000
Stock of goods on 1.1.2020 40,000
Stock of goods on 31.12.2020 45,000
Sales , 5,00,000
Depreciation on fixed assets 5,000
Preliminary expenses written off 4,000
Salaries to employees 9,500
Rent of showroom 6,000
Interest on loan : 5,000
Discount received from suppliers 2,500
- Office expenses i 1,000 -
Printing and Stationery 900
Carriage outwards 600
Advertisement 400

Income tax at 40%

From the above particulars, prepare a statement of profit or loss as per
Schedule - III of Companies Act, 2013

D905 31.12.20200 ©03 3, 83 00 FosBA0b JITrieh B FYNT08:S :

A elpLN] 303

(Cw)
0TI OB 3,00,000
Boeos 1.1.20200 385 40,000
Beos 31.12.20200 3080 45,000
IP03 5,00,000
A0ANY Boees 3TTY 5,000
300DT R[PIET DWOFNY J2se 4 000
o300 oy 9,500
Bec. B0 Wk 6,000
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o7 Bo0edT R, 5,000
@at{]émdaod 2,6658,’\.&3 2eed 2,500
FeJed Doened 1,000
Foog, £ T3 FSoNN 900
3080 mories | 600
2350&0030 400
a0l 301 3esE@ 40

Soedn HIoNYor FoI) T2oW 20130 JVUeR - IlIdod wayi-IIE Ssafaddy
303702.

Prithvi Ltd has a plant whose original cost is Rs. 4,80,000 and accumulated
depreciation amounted to Rs. 48,000. Another company sold a similar plant
for Rs. 1,90,000 and the selling expenditure amounted to Rs. 17,500. The
management has determined the value in use of the plant of Rs. 2,05,000.

Calculate the impairment loss.
IR e FoZIAod word WIVE e I de. 4,80,000 IR xod ATTY
ge. 48,000 ¥8R0m> Fogdady wde Dedod WBITIWY Se. 1,90,0008, Inoews

SRBW Sy SRvekr woF Ce. 17,5008 028, urEed3 ool B R el
esusadeena wgdodbds), de. 2,05,000 080 AN I8

cfaw-'e%a' W%ﬁoca’o HROWO.
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